42-38t1 50 SHEETS EYE-EASE® - 5 SQUARES
42382 100 SHEETS EYE-EASE® - 5 SQUARES
42-389 200 SHEETS EYE-EASE®- 5 SQUARES

m= National “Brand

EXAmPLE 8_8/3 o)y

S INEN AR @ 00 F pPad

STD. PRESSWRE LEAVES cLOTHES prNER Z
PRYEZ THRY 47 bla, éALvVAmMIED - 1.5
PIPL W/ No MMDRE Teaw 20' of ' )
P\PE anD 4-90° ELBOWS, PRESSUZE. /

N DRYER 1S ©.20" waATEKR
F\ND . AR FLow RaATT

SOLVNORN!

Tvpe I- PROBLEm: Fiwo V= d(f)
K. = ¢(\l\)

gvess £ w\no\(\/ +orbuleat
Zzone

£ ind Vv, Re, new f

P 2 ]
Zl*""’\'—'%:l\—[—"': 2 + P&_&VZ. ’1'\')L

Yo  7.09 o tly[£t?

\/L

§ 23 § 29
I§NoRE  ELEVATION  DIFFE REWCES | P = O, AssumE
VT o -0
b A
= P = M " l’\{z 4 <‘2‘<L /\/7—,>
¥ 29 29
P\ = \/7.2 L -é'
- = ( [+ o+ 2K, ()
Py —e—Or 2 iR ’{”P‘}V”:**@T‘O*\Q—?-F-% g ERE T e e e e
tw 12 0
F T C2.4b/Er> (TABLE 1.4)
= P s (o.oa ) c A [ f2) = 104l
f1*
Voo = 1779105 £13]
e 5 / Table B.2
Tap s .09 10 B[
PL . LO4lb/ftt = 4.7 £ ar



42-381 50 SHEETS EYE-EASE® - 5 SQUARES
42-382 100 SHEETS EYE-EASE® - 5 SQUARES
42-389 200 SHEETS EYE-EASE® - 5 SQUARES
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